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AR S B - ST - 2 K O £ B | DRE2 | B K | mRE2
1 |[ILEDX 3L B B R = % 52, 357 25, 684 19, 084 97,125
2 |KH EF H X X X O = 5,920 2,838 2,054 10, 812
3 |FE & E * 5 20, 627 10, 271 7, 648 38, 546
4 (OBLHA Bk H X H# E % 1,225 3, 546 2,526 13, 297
5 [IFAE [TFAEAS H KX # #H O = 29, 771 18, 442 10, 709 58, 928
HADTDFIYIETHEEHR 0 0 0 0
WIFhDOERFEICLEBELEVEDIRELE 0 0 0 0
it (AIRERE A 115, 906 60, 781 42,021 218, 708
BORERH B 2,060 958 774 3,792
it (BELRD A+B=C 117, 966 61, 739 42,795 222,500
S EEHRH D 117, 968 61, 739 42,799 222,506
BFblRYEEH C—D=E A 2 0 A 4 A6
& E i3 %l 23:40 23:20 23:05




